Installation Instructions
Outdoor Floodlighting Mounting Accessory

READ AND FOLLOW ALL SAFETY INSTRUCTIONS!

SAVE THESE INSTRUCTIONS AND DELIVER TO OWNER AFTER INSTALLATION

IMPORTANT SAFETY INSTRUCTIONS

AWARNING
To reduce the risk of death, injury or property damage from fire, electric shock, cuts,
abrasions, falling parts, and other hazards:
e Service of the equipment must be performed by qualified service personnel.
¢ Installation and maintenance must be performed by a person familiar with the construction
and operation of this product and any hazards involved. All applicable codes and ordinances
must be followed.
¢ Read this document before installing, servicing, or maintaining this equipment or installing a
lamp. These instructions do not cover all installation, service, and maintenance situations. If
your situation is not covered, or if you do not understand these instructions or additional
information is required, contact Lithonia Lighting or your local Lithonia LIghting Distributor.
* Read and follow all warnings and instructions provided by the lamp manufacturer.

A WARNING
Before installing, servicing, or maintaining this equipment, follow these general precautions.
To reduce the risk of electrocution:
¢ Make sure the equipment is properly grounded.
¢ Always de-energize the circuit and/or equipment before connecting to, disconnecting
from, or servicing the equipment.
To reduce the risk of fire:
¢ Keep material away that can burn from hot lamp.
* Make sure lamps are correctly installed.
* Use supply conductors with a minimum installation temperature rating as specified on
equipment.
To reduce the risk of personal injury from cuts, abrasions, or falling parts:
*  Wear gloves to prevent cuts or abrasions from sharp edges when removing from
carton, handling and maintaining this equipment.
* Do not use abrasive materials, glass cleaners or other solvents on reflector or lens.
These substances may damage equipment and cause parts to eventually break and
fall.
* Do not install a damaged fixture.

A CAUTION: Observe lamp manufacturer’s recommendations and restrictions on lamp operation,
including but not limited to ballast type, burning position, replacement and cycling. Use only lamps that
comply with applicable ANSI standards.

NOTICE: If lamp is marked @ it contains mercury. Follow disposal laws. See
www.lamprecycle.org

Lithonia Lighting, a division of Acuity Brands Lighting, Inc., assumes no responsibility for claims arising out of
improper or careless installation or handling of this product.

SAVE THESE INSTRUCTIONS

A o Lithonia Lighting Outdoor
'v Llrﬁgﬁxﬁségﬁﬁﬂ”ﬁ One Lithonia Way, Conyers, GA 30012
pany

Phone: 800-279-8041 Fax: 770-918-1209
www.lithonia.com

Part Number: RJ5210026
Revision Date: REV D 1/4/10



Installation Instructions
Outdoor Floodlighting Mounting Accessory

Mount only as pictured. Do not invert bracket.

Description: Tenon Mount Slipfitter (FTS)

Not for use with ASF, 55, 95 or 170S.

Installation: Secure the fixture yoke to the FTS by using the bolt and
lockwasher provided. When using with the yoked TFM series, a 3/8” bolt,
(2) lockwashers and nuts (not provided) must be used instead of 5/8".
Secure to the top end of a tenon or pipe 2" to 2-1/2" (2-3/8" to 2-7/8" OD) by
tightening set screws as needed .

58" bolt
and lockwasher

Furnished with
weather-ight cord.
grip for 14-3 SO cord.

®

Due to yoke design, the TFM will be off center when mounted.

Description: Tenon Mount Slipfitter (TVTS)

(for use with TV sportslighting fixture)

Installation: Insert 5/8” diameter threaded bolt of the TV fixture through the
clearance hole on TVTS. Place washer and nut onto bolt inside the fitter.
Tighten with socket wrench. Secure to the top end of a tenon or pipe 2" to
2-1/2" (2-3/8" to 2-7/8" OD) by tightening set screws as needed .

-

5/8" clearance hole

Furnished with
weather-tight cord,
grip for 14-3 SO cord.

®

Description: Cross-arm Adapter (FCRA)

*5/8" x 1" hex bolt

and Iockwasher\
(provided) @

I
]

floodlight
yoke

pivot hole for
5/8" bolt

Installation: Secure the fixture yoke mount to the FCRA or FCRA45 by using
the bolt and lockwasher provided. Secure the FCRA or the FCRA45 to the
cross-arm with a 5/8” bolt (not provided).

Description: Cross-arm Adapter (45°) (FCRA45)

*5/8" x 1" hex bolt
and lockwasher

S . (provided)

N (ﬁ fixture yoke
N

AN

pivot slot for N
1/2" bolt N

| N

Due to yoke design, the TFM will be off center when mounted.

Description: \Wall/Wood Pole/Pipe Mounting Bracket. (FPMB)

Installation: Secure the yoke to the FPMB by using the bolt and lockwasher
provided. Secure the FPMB to a 2" — 2-1/2" pipe with 3/8” U-bolts, nuts and
lockwashers (provided). For wall or wood pole mount, discard U-bolts and
secure to surface with (4) 3/8" fasteners (not provided).

« ——————— 5/8"x1"hex

bolt and lockwasher
(provided)

1/2" x 1-1/2" hex
bolt and lockwasher

(provided)
4-3/16" j

8-11/16"

nuts, & lockwashers

(provided) | Fits 2" or 2-1/2" pipe

" (horz. or vert)

Due to yoke design, the TFM will be off center when mounted.

Description: Tenon Mount Slipfitter (TFMTS)
For use with 1/2” knuckle mount.

Installation: Attach
TFMTS to fixture's
threaded knuckle.
Secure to the top end of
a1-1/4" to 2" pipe by
tightening set screws 2.3/8"
as needed.

The TFMTS is for
ground mount use only
due to it's shallow
height.

1/2-14 NPT

5/16-18 NPT
(3 places)

Description: Tenon Mount Slipfitter (TS)
Must be used with 55, 95, and 170S due to the
width of their yoke.

Installation: Secure the

fixture yoke to the TS by 3/4-10 bolt,
using the bolt and (provided)

lockwasher provided. —
Secure to the top end of a

tenon or pipe 2" (2-3/8"

0D) by tightening set 5.7
screws as needed .

VA L/THONIA LIGHTING®

An<$AcuityBrands Company
©2001 Acuity Brands Lighting, Inc. All Rights Reserved. Rev. 01/10

Lithonia Lighting Outdoor

One Lithonia Way, Conyers, GA 30012
Phone: 800-279-8041 Fax: 770-918-1209
www.lithonia.com

Part Number: RJ5210026
Revision Date: REV D 1/4/10




